
Assembly Instructions

heritage  
gliding footrest

330-893-4212 • www.wildridge.com
LCC-118

© 2019

Required Tools:
- 1/2” Wrench or Socket
- 9/16” wrench or socket
- #2 Square Drive Bit
- Cordless Drill

Hardware:
- (8) 5/16” x 3” lag bolts  
- (8) 3/8” Locknuts
- �(4) 3/8” x 2 1/2” machine 

bolts
- �(4) 3/8” x 1 3/4” machine 

bolts
- (12) 1 1/4” screws    
- (8) 5/16” washers
- (4) Glider Brackets
- (16) 3/8” Washers

Parts:
A = (2) Base Pieces
B = (2) Support Pieces
C = (1) Footrest
D = (2) Long Legs
E = (2) Short Legs

Step 1
Stand the two base pieces (A) up side by side and place the two 
support pieces (B) upright in between them as shown. To fasten 
them together, slide a 5/16” washer onto a 5/16” x 3” lag bolt and 
insert it through the hole on a base piece, and into the pre-drilled 
hole in the support piece, as shown. Repeat with the remaining 
seven holes. NOTE: Before tightening the bolts completely 
make sure it is sitting level.

D

A

B

C

E

A
A

B

B

Step 2
Using the pictures 
as a reference, 
fasten the hardware 
through the top 
holes on the two 
base pieces, using (1) 
3/8” x 2 1/2” machine 
bolt, (2) 3/8” washers, 
(1) glider bracket and 
(1) 3/8” locknut,  
per hole. 
Note: The glider 
bracket should be 
on the outside of 
the base so you can 
attach it to the leg in 
step 4. 
For it to glide 
correctly the 
hardware must be 
placed in the order 
that is pictured 
above and with the 
curve on the glider 
bracket facing away 
from the base. You 
will be doing this 
for all four glider 
brackets.

(1) 3/8” 
x 2 1/2” 

Machine 
Bolt

(1) 3/8” 
Washer

(1) 3/8” 
Locknut

Note: 
The Glider 

Bracket  
will curve 

away 
from 
base.

Base

(1) 3/8” Washer



Assembly Instructions

heritage  
gliding footrest

330-893-4212 • www.wildridge.com
LCC-118

© 2019

Step 3
Lay the footrest (C) on side as shown, noting the slant. On the 
inside place a long leg (D) to the right as far as it allows, staying 
up against slats as shown. Fasten with (3) 1 1/4” screws per leg 
through the pre-drilled holes. Then fasten a short leg (E) to the left 
side in the same manner. Repeat on the other side of the footrest 
with the remaining two legs.

Step 4
Now place the footrest assembly over the base assembly and 
fasten the legs onto the glider brackets using (1) 3/8” x 1 3/4” 
machine bolts and (2) 3/8” washers, per leg, making sure to slide 
one washer onto the bolt, then through leg, then add another 
washer before inserting it through glider bearing, once through 
add a 3/8” locknut.

Your gliding footrest is now complete.

Thank you for purchasing from Wildridge.

D

C

E


